hips that Work

Building Partners

Grundfos Efficiency Upgrade Guide

=N

[50E I

..._I__I—_r_-__

i



Table of Contents U R E L L
Building Partnerships that Work

Page # Description

3 Taco 00 Pumps

5 Taco 00e Pumps ‘ g : CQ

7 Taco 100 Pumps %z g Ez

9 Taco 1400/2400 Pumps : Ez .

11 Taco 00VR Pumps

13 Taco 1600 Pumps

15 Taco 1900 Pumps

17 B&G PL Pumps

19 B&G 60 Pumps

21 B&G PL Pumps

23 B&G NRF Pumps

25 B&G 3-Piece Pumps

23 B&G Ecocirc XL Pumps

25 Wilo Stratos Pumps

23 B&G 80 Series Pumps

25 B&G 90 Series Pumps TPE3 CRE-DP




TACO 00 Series to Grundfos Efficient Option

+— ) —*

Industry Leading Technology
Maintenance Free Wet-Rotor Construction
Integrated Speed Control and Self-Sizing Logic
High Efficiency ECM motor
Whisper Quiet Operation

URELL

Building Partnerships that Work

Grundfos ALPHA2 pumps are high-efficiency circulators,
designed for circulating liquids in heating systems, and for

domestic hot-water recirculation. The pump features

AUTOADAPT which automatically adjusts the pump to system
demands for lowest energy consumption.
Lifecycle Savings - Reduces Energy Consumption by up to 85%
Easy Installation - Pump "Right Sizes" for Most Applications
Maintenance Free - Reliable for Decades of Efficient Operation
In-Stock Locally - Standard Shelf Product

o
2
€
\ §
|
1
0
"
&

NOTE:

If Stainless Steel is needed for model
Alpha2 26-99, use the Magna3 32-120

Grundfos Alpha2 or Magna3 Crossover Options

Taco 00 Series Circulators Grundfos
Cast Iron Stainless Steel
Flange Flange
Flange | Motor to to

Size | Power | Flange |Pump Dimensions GF Flange | Flange 1115V 1x208-230v 1115V 1%x208-230v
Model in HP G A B Model Flange Type in Material # Material # Material # | Material #
003 sw | sweat 1/40 | 4 13/32| 5 1/8 I 4 1/8 | Alpha215-55F GF 15/26 6 1/2 99163903 09163937
'l‘:HJE 2 bolt 1/35 6 3/8 5 5/3 4 Alpha2 15-55F GF 15/26 6 1/2 99163903 09163937
006 sw | sweat 1/40 | 4 13/32| 5 1f8 4 1/8 | Alpha215-55F GF 15/26 6 1/2 99163903 09163937
'l‘:ﬂﬁ 2 bolt 1/40 6 3/8 6 1/4 4 3/8 Alpha2 15-55F GF 15/26 6 1/2 99163903 09163937
'l‘.r](ﬂ’ 2 bolt 1/25 6 3/8 6 3/8 4 1f2 Alpha2 15-55F GF 15/26 6 1/2 99163903 09163937
E‘ﬂﬂ 2 bolt 1/25 6 3/8 b 4 Alpha2 15-55F GF 15/26 6 1/2 99163903 99163937
'l‘.rlﬂﬂ 2 bolt 1/8 6 3/8 7 5 11/16 | Alpha226-99F GF 15/26 6 1/2 00490916 |Magna3 32-120F 00833308
Tﬂlﬂ 2 bolt 1/8 6 3/8 7 1/4 5 5/16 | Alpha226-99F GF 15/26 6 1/2 99490916 | Magna3 32-60 F 08126822
'l‘.r.'l'Jll 2 bolt 1/8 6 1/2 71/2 6 1/8 Alpha2 26-99 F GF 15/26 6 1/2 004900916 |Magna3 32-120F 00833308
'l‘.r.'lJlI 2 bolt 1/8 8 1/2 8 5/8 6 3/8 Alpha2 26-99 F GF 15/26 6 1/2 99490916 | Magna3 32-60 F 08126822
'l‘.r.'l'Jl?p 2 bolt 1/6 6 1/2 71/2 6 1/8 Alpha2 26-99 F GF 15/26 6 1/2 004900916 |Magna3 32-120F 00833308
'l‘.rIlld 2 bolt 1/8 6 1/2 71/4 [513/16 | Alpha226-99F GF 15/26 6 1/2 099490916 | Magna3 32-60F 08126822
'l‘.r.'ﬂ15 2 bolt 1/20 6 3/8 6 1/2 4 5/8 Alpha2 15-55F GF 15/26 6 1/2 99163903 00163937




TACO 00 Series Grundfos Offering
Building Partnerships that Work
Taco 00 Series Grundfos
16—+ —— N N I I | | N N Y O P ® [an] . [:]
—\\\ —®— 003B 4 42
14 N -@— 005 . 12 404
N -G~ 006 1 1 384 N
4 NL —@— 006B y =
12 _@_ 007 = 10_2 -
. \3\ —®— 008 C 9_5 gg ]
B 10 \ . 1 284 N
£ \\s<\ N 1 8 26 NC
¥ 5 T — C = 24
il 0 I~ g 74 - _
3 . \\(@\)\ ~ N\ | | 21 ALPHA2 26-99 N
X | \( \\ N~ L 6_: = \._
3 Oy \\\ - - 1 TN ~
'é 6 \\\\\ \ \\ I 5_: 16— o
E 3 144 T
il \\ \A \\ 49 12 \,..\ BN
| ™~ \ N N R ALPHA1/2 [ TN ~<
\ \ \ L 1 6] - 7
2 \\ ~ \\ " 1—; ; _ P )f
- \ \ \\ \ E 0—: 0 _| T T T T T T T T T T T T T T T T T T :‘.‘T“,l T T T T T |/ T T
[ L 1 1 1 ! ! N 1 1 1 ! \l N ! \ 1 I ! P I L \1 . 012345678 91M1112131415161718192021 222324252627 282930
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 Q[US GPM]
II\IIII\III\IIII\I\IIIIIIII\I\I\IIII\I\IIIIIIIIII\'\II\I\I\IlIIIIIIII
FLOW-GPM 00 05 10 15 20 25 30 35 40 45 50 55 Q [m¥h]
H
36 lll'lllllllllIlllllllllll llllllllllllllll Ill Illll|||lllll III Ill Ill['lIl“llllllrllllllllll_ [ft]
1 L MAGNA3
34~ —(— 009 1 40
32 —2— 0010
| N -3~ 0011 iy
30 L
LR ~@— 0012 ] 0 ~.
ey N N —@~ 0013 E \
| \ N & —@©~ 0014 1
24 \\ \\ = 32-100
§ 2 IS ANAY T ? \\ N
18 N
3 16-‘ \ \\@1 \\\ \\ :'— 15 32-80 N \
Sl o\ NHANAN -
T 2] T § \\ \\ 1 12
10 | G) \\\A \\ 1 \ \\
1 N L \\‘\ 1 10 \
6-‘ \ \ . \\‘ :_ \ \
4] \ \\\‘\\ \\ \\\ - 8
271 \\‘ N\ \\‘ -:
o— L} T T T T T 1 T T 1 T Ll T T T \I\l T L} T 1 1 T T $ T |_ 6
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42 44 46 48 50 52 54
10 15 20 30 40 50 60 70 80 100
FLOW-GPM Q [US GPM]




TACO 00e SERIES

GRUNDFOS

URELL

Building Partnerships that Work

1 - I
AL
. Fill
- F - r e en——— I
- - ‘w W
_l-.ﬁ_. = h
laeed - .
I AT o
gl -
\' :L'__ ’ L] L]
— |
-_-l:-.-_ - -
: = ! !
F?ﬁﬁ C LAt . ,
U WUl T . es
| \"'ll_ :ll__ .
i Fﬁ%‘\
T F B =
T N SN Grundfos Grundfos Alpha? or Magna3 Crn5.5m|rer Options
Cast Iron Stainless Steel
Flange | Motor | Flange to Flange to
Size | Power | Flange |Pump Dimensions GF Flange Flange Ix115V 1x208-230v Ix115V 1x208-230v

Model in HP G A B Model Flange Type in Material # | Material # | Material # | Material #
003e union | 1/40 [ 5 1/8 [ 51/2 | 47/8 | UP10-16 Auto |GU125union| 3 1/8 98420224
006e union 1/40 5 1/8 51f2 47/8 Alpha HWR-T |GU125 union 6 1/2 99906545
007e-F2 2 bolt 1/25 6 3/8 b I 4 1f8 | Alpha215-55F GF 15/26 I 6 1/2 00163903 00163937
007e-F4 4 bolt 1/25 6 3/8 b 4 1/8 | Alpha215-55F GF 15/26 6 12 001639032 00163937
0015e-2F2 2 bolt 1/25 6 3/8 b 4 1f8 | Alpha215-55F GF 15/26 6 1/2 99163903 99163937
0015e-2F4 4 bolt 1/25 6 3/8 b 4 1f8 | Alpha215-55F GF 15/26 6 1/2 00162903 001632937
0018e-2F2 2 bolt 1/25 6 3/8 b 4 1/8 Alpha2? 15-55 F GF 15/26 6 12 00163903 00163937
0018e-2F4 4 bolt 1/25 6 3/8 b 418 Alpha2 15-55F GF 15/26 6 1/2 99163903 99163937
VR1816-FC2 | 2 bolt 1/25 6 3/8 b 4 1f8 Alpha2 15-55 F GF 15/26 6 1/2 99163903 99163937
VR1816-4C2 | 4 bolt 125 6 3/8 b 4 1/8 Alpha2? 15-55 F GF 15/26 6 1/2 00163903 00163937




TACO 00e Series

Grundfos Offering

URELL

Building Partnerships that Work

Taco 00e Series Grundfos
H H
) ml g Ift
0.0 02 0.4 0.6 0.8 aus) 553 18
H{ft) 16 L L ——— —— 5 H(m) -~ ] AI.PHA;Z—{{SHWR—T
1 17 N z
r ) S g P el s s 50 1N\
14 1 45_? 15 \\‘\\
MAX 1 L, H H B MO
[m] [ft] UP10-16 . T
_ 4.0 60 Hz 40 13 N
1.2 ] SN
..... 4.. P N
- 1_3... ) 1117 “\\\
S 0 AR
1 — ] ~ N
§ h i 2.5 259 4] Fae N
T : 620 ] ] S ~
4 2. 1 7 =
e 10 UP 10-16 204 7 NEAN
- TES e T
R - 1.0 1 4 i
2705 R :
L4 4 1 1
1 2
0-'0.0 05 .
Lo 00 02 04 06 08 10 12 14 16 18 20 22 24 00 ] 0]
1 10— T T T T T T T T T T T T T T T T T T
"= 001 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
0 Q[US GPM]
0 1 2 3 4 5 6 7 8 9 10 " 2 3 14 Q(gpm) T
Elows 0.0 0.5 1.0 15 20 25 30 35 Q[meh]
H
M ALPHAZ2
20
0 1 2 3 4 am’m) ,\ 60 Hz
0.0 02 04 L] 08 10 1.2 Q(Vs) 18
H (f) 20 ; | " - s H(m) | \
18 GH 16 \
18 008 | | s i \
I 0016<{Higl|1} 14 N
14 } \
s s -
w = o - T I S o =}
s | o] | [N o ‘ N
= o4 I OrangelED  GreenleD | | 10 ™.
10
N @ || - N
% 8 001 NormalMode  Green Mode |—] 8 \
| T ~
R - reen Mode ! 2 4
I — | || ®
4
i |006 | | [ ] 1 ]
. 001 ) | 4 ™S
| | | N
o L L L T L L L L L L L L L L L ! L o 2 \
o 1 2 3 4 5 8 7 8 9 10 1 12 13 14 15 18 Q{gpm) ""\
Flow o |
0 2 4 6 8 10 12 14 16 18 20 22 24
Q [US GPM]




TACO 100 Series to Grundfos Efficient Option

Industry Leading Technology
Maintenance Free Wet-Rotor Construction
Integrated Speed Control and Self-Sizing Logic
High Efficiency ECM motor
Whisper Quiet Operation

URELL

Building Partnerships that Work

0
3
A
\ 2
\ @
1
0
"
78

The Grundfos MAGNA3 model D circulator pumps are designed for
circulating liquids in systems with variable flow requirements where
you want to optimize the setting of the pump duty point, thus
reducing energy costs.The pump features AUTOADAPT which
automatically adjusts the pump to system demands for lowest
energy consumption.

Lifecycle Savings - Reduces Energy Consumption by up to 85%
Easy Installation - Pump "Right Sizes" for Most Applications
Maintenance Free - Reliable for Decades of Efficient Operation
In-Stock Locally - Standard Shelf Product

Taco 100 Grundfos Magna3 Grundfos Magna3 Crossover antage. Options
Cast Iron Stainless Steel
Flange | Motor |Flange to Motor |Flange to
Size Power Flange | Pump Dimensions GF Flange Power Flange 1x115V 1x208-230V 1x115V 1x208-230V
Model in HP D A B Model Flange HP in Material # Material # Material # Material #
110 1 1/4 1/12 717/8 14 5/8 12 5/8 Magnal 32-60 F GF 15/26 1/8 6 12 98126820 08126822
111 1 1/4 1/8 10 1/4 16 1/4 13 7/8 Magna3 32-120F GF 15/26 1/6 6 12 09833304 09833308
112 1 1/4 1/3 717/8 16 1/2 14 1/2 Magna3 32-120F GF 15/26 1/6 6 12 09833304 09833308
113 1 1f4 1/8 10 1/8 16 1/4 14 Magnal 32-60 F GF 15/26 1/8 6 1/2 98126820 08126822
120 2 1/6 13 1/2 16 7/8 14 1/4 Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1/2 98126300 08126828 98126202 08126830
121 2 12 1/4 11 1/8 18 1/8 15 7/8 Magna3 50-80 F GF 53 1/3 9 1/2 08126812 98126340 08126314 08126842
122 3 1/4 11 1/8 18 1/8 15 7/a Magna3 50-80 F GF 53 1/2 9 1/2 08126812 08126840 08126814 08126842
131 3 1/3 13 5/8 19 1/4 15 3/4 Magna3l 50-280 F GF 53 1/3 9 1/2 08126812 02126840 08126814 08126842
132 3 1/2 13 5/8 21 1/2 18 Magna3l 50-280 F GF 53 1/3 9 1/2 08126812 02126840 08126814 08126842
133 3 3/a 13 5/8 22 1/8 18 5/8 Magna3 50-120 F GF 53 3/a 11 09833473 09833476 09833475 09833477
138 3 1 13 5/8 22 5/8 19 1/8 Magnal 65-120 F GF 65 1 13 3/8 08124696 02126842 98124702 08126850




TACO 100 Series Grundfos Offering
Building Partnerships that Work
Taco 100 Series Grundfos
25 —tr—t—t T+ttt 7+
T H
ft
- 20| | o MAGNA3
H \ 20-150]
n 15 113 QZ + 50
(]
ﬁ \ 1 o
"‘
; 10-_-_—--- \ 65-120 ..
= 30
o T
= ; Py 11 T~ 120
N/ ™ .
0 10 20 30 40 50 60 70 \
FLOW (GPM) 15 \
12
40 t t+ t t t t \
T 138 10 \
T~
E 20 133 ~_ .
T i ~
a B \\\
8 20 — ™ ™ i
I i N N7 10 15 20 30 40 50 60 70 80 100 150 200 300 400
- — L N N Q[US GPM]
lS —--_-_""""---._.__ \ \ p
© 1o N S/
— ~
\3\7 ) // /
. / //

20 40 60 80 100 120 140 160
FLOW GPM




TACO 1400/2400 Series to Grundfos Efficient Option

[ =)
|

Industry Leading Technology

Maintenance Free Wet-Rotor Construction
Integrated Speed Control and Self-Sizing Logic

High Efficiency ECM motor
Whisper Quiet Operation

URELL

Building Partnerships that Work

The Grundfos MAGNA3 model D circulator pumps are designed for
circulating liquids in systems with variable flow requirements where
you want to optimize the setting of the pump duty point, thus
reducing energy costs.The pump features AUTOADAPT which
automatically adjusts the pump to system demands for lowest
energy consumption.

Lifecycle Savings - Reduces Energy Consumption by up to 85%
Easy Installation - Pump "Right Sizes" for Most Applications
Maintenance Free - Reliable for Decades of Efficient Operation In-
Stock Locally - Standard Shelf Product

Rl Grundfos Magna3 Grundfos Magna3 Crossover ‘JDI.tagE Options
Cast Iron Stainless Steel
Flange Motor |Flange to Motor Flange to
Size Power | Flange |Pump Dimensions Magna3 GF Flange Power Flange 1115V | Ix208-230V |  1x115V | 1x208-230V
Model in HP A D E Model Flange HP in Material # | Material# | Material # | Material #
1400-10 2-Bolt 1/10 | 6-3/8” | 8 3/16 |6 3/8 Magna3 32-120 F GF 15/26 1/6 6 1/2 99833304 99833308
1400-20 2-Bolt 1/6 6-3/8” | 8 5/8 |6 7/8 Magna3 32-120 F GF 15/26 1f6 6 1/2 00833304 00833308
1400-30 2-Bolt 1/6 8-1/2" | 9 3/a |7 1/8 Magna3 40-80 F GF 15/26 or 40{43 1/3 8 1/2 98126800 | 98126828 | 98126802 | 98126830
1400-40 2-Bolt 1/6 8-1/2" | 9 3/4a |7 1/8 Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1/2 98126800 | 98126828 | 98126802 | 98126830
1400-45 2-Bolt 1/3 6-3/8” | 10 1/4 (8 1/2 Magna3 40-120 F GF 15/26 or 40/43 1/2 6 1/2 08126804 | 98126832 | 98126806 | 98126834
1400-50 2-Bolt 1/2 6-3/8” | 10 1/a |8 1/2 Magna3 40-180 F GF15/26 0r40f43 | 8 1/2 8 1/2 OR126808 | 98126836 | 98126810 | 98126838
1400-50/2 2" 2-Bolt| 1/2 6-3/8” | 10 1/4 (8 1/2 Magna3 40-180 F GF15/26 or40/43 | 8 1/2 8 1/2 98126808 | 98126836 | 98126810 | 98126838
1400-60 2" 2-Bolt| 1/6 8-1/2" | 9 3/a |7 1/8 Magna3 40-80 F GF 15/26 or 40{43 1/3 8 1/2 98126800 | 98126828 | 98126802 | 98126830
1400-65 2" 2-Bolt| 1/3 8-1/2" | 11 1/4 |8 3/4 Magna3 50-80 F GF 53 1/3 9 1/2 98126812 | 98126840 | 98126814 | 98126842
1400-70 2" 2-Bolt| 1/2 8-1/2" | 11 1/4 |8 3/4 Magna3 50-120 F GF 53 3/4 11 90833473 | 99833476 | 99833475 | 99833477
1400-70/3 3" 4-Bolt| 1/2 8-1/2" | 12 8 3/a Magna3 50-150 F GF 53 3/4 11 98126816 | 68126844 | 98126818 | 98126846
2400-10 2-Bolt 1/10 | 6-3/8" | 6 7/8 |5 Magna3 32-120 F GF 15/26 1/6 6 1/2 99833304 99833308
2400-20 2-Bolt 1/6 6-3/8” | 6 7/8 |5 Magna3 32-120 F GF 15/26 1/6 6 1/2 99333304 99833308
2400-30 2-Bolt 1/6 8-1/2" | 8 5 1/4 Magna3 32-120 F GF 15/26 1/6 & 1/2 99833304 99833308
2400-40 2-Bolt 1/6 8-1/2" | 8 5 1/4 Magna3 32-120 F GF 15/26 1/6 6 1/2 299833304 99833308
2400-45 2-Bolt 1/3 6-3/8" | 8 3/4 |6 7/8 Magna3 32-120 F GF 15/26 1/6 6 1/2 299833304 99833308
2400-50 2-Bolt 1/2 6-3/8” | 8 3/4 |6 7/8 Magna3 40-180 F GF15/26 or40/43 | 8 1/2 8 1/2 98126808 | 98126836 | 98126810 | 98126838
2400-50/2 2" 2-Bolt| 1/2 6-3/8” | 8 3/4 |6 7/8 Magna3 40-180 F GF15/26 or 40/43 | 8 1/2 8 1/2 098126808 | 98126836 | 98126810 | 98126838
2400-60 2" 2-Bolt| 1/6 g1/ | 7 7/8 (5 1/a Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1f2 OR126800 | 98126828 | 08126802 | 98126830
2400-65 2" 2-Bolt| 1/3 8-1/2” | 9 7/8 |7 1/4 Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1/2 98126800 | 98126828 | 98126802 | 98126830
2400-70 2" 2-Bolt| 1/2 8-1/2" | 9 7/8 |7 1/4 Magna3 40-120 F GF 15/26 or 40/43 1/2 6 1/2 98126804 | 98126832 | 98126806 | 98126834
2400-70/3 3" 4-Bolt| 1/2 8-1/2" | 10 1/2 |7 1/4 Magna3 50-120 F GF 53 3/4 11 00833473 | 99833476 | 99833475 | 99833477

9




TACO 1400/2400 Series Grundfos Offering
Building Partnerships that Work
Taco 1400/2400 Series Grundfos
Flow (mf/h)
0 1 2 3 4 85 & 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 H
2t o MAGNA3
wh
48 -
48 140-180 |
—
3 £
5 E
£ 3
8 z
2 =
s
5 i
4E-
O 5 710 15 20 25 30 35 40 45 50 55 60 65 70 75 B0 BS 90 95 100 105 110 115 120 125 130 135 140 145 150 155 160
Flow {gpm)
[ 2 4 (3] 8 10- o ‘“-1'2"’ 14 16 18 20 22
52 F - 16
50 F L 15
8 =T= 2400-10 -3P
o =)= 2400-20 -3P M
] == 2400-30 -3P
P - 13 10 15 20 30 40 50 60 70 80 100 150 200 300 400
oE == 2400-40 -3P
ot =5 2400-45 -3P F 1z Q[US GPM]
Wk =B 2400-50 -3P L.,
aik =7 2400-60 -3P .
T b 2400-65 -3P Lo 8
3 b =@= 2400-70 -3P . E
§ 2sf =
x T
-~ 26F - 8 o
g 2
g 2t I
=~ oof =
20 F -8 '9'
18 F
16 £ L5
14E F4
12 F
10F L 3
sk
L -2
4 b1
2_
0 . . . ‘ . ‘ ‘ . ‘ 0
o 10 20 30 40 50 80 70 80 a0 100
Flow (gpm)

10



gstacey
Stamp


Industry Leading Technology

Maintenance Free Wet-Rotor Construction
Integrated Speed Control and Self-Sizing Logic
High Efficiency ECM motor

Whisper Quiet Operation

The Grundfos MAGMA3 model D circulator pumps are designed for
circulating liguids in systems with variable flow requirements where
you want to optimize the setting of the pump duty point, thus
reducing energy costs The pump features AUTOADAPT which
automatically adjusts the pump to system demands for lowest
energy consumption

Lifecycle Savings - Reduces Energy Consumption by up to 85%
Easy Installation - Pump "Right Sizes" for Most Applications
Maintenance Free - Reliable for Decades of Efficient Operation

The Grundfos TPE3 joins the Grundfos commercial products line as

not only the smartest in-line pump, but also one of the easiest to use.

The TPE3 offers increased flow and pressure, as well as breakthrough
efficiency, in a plug-and-pump design. With features that simplify
installation, commissioning, operation and maintenance, the TPE3 is

a logical choice for almost any commercial heating and cooling application.

URELL

Building Partnerships that Work

Taco 0026e, 0034e, 00VR and 1915e Series Grundfos Alpha2 26-99, Magna3 and TPE 3 Grundfos Cr[:rsg::telrr::ltage Options
Flange Motor Flange to Motor | Flange to
Size Power Flange Pump Dimensions GF Flange Power Flange Ix115V 1x208-230V | 3x200-240V | 3x440-480V
Model in HP A B C Model Flange HP in Material # Material # Material # | Material #
0026e 2-Bolt 6 1f2 8 6 7/32 Alpha2 26-99 F GF 15/26 6 1/2 09490916
0034e 2-Bolt 6 12 8 6 7/32 Magna3 32-120 F GF 15/26 1/6 6 12 99333304
VR15 (L,M,H) | 4-Bolt 0.9 9 7/8 15 11 11f16 | Magna3 40-180F | GF 15/26 or 4043 3/a 8 1f2 08126808 08126836
VR20 (L,M,H) | 4-Bolt 1.1 11 15 11 11/16 | Magna3 50-150F | GF53 3/a 11 08126816 08126844
VR25 (L,M,H) | 4-Bolt 2.1 13 3/8 16 1/8 12 1f2 TPE3 50-200 GF 53 2 11 08319595 08819630
VR30 (L,M,H) | 4-Bolt 21 14 1/8 18 1/8 14 1f2 TPE2 80-180 GF 80 2 14 3/16 00836281 08819751
1915e 2-Bolt 2.1 10 7/16 15 9/16 12 11/16 | Magna3 40-180F | GF 15/26 or 40/43 3/a 8 1/2 08126808 08126836
Taco 0026e, 00VR and 1915e Series Grundfos Alpha2 26-99, Magna3 and TPE 3 Grundfos Crns-smrer Voltage Options
Stainless Steel
Flange Motor Flange to Motor | Flange to
Size Power Flange Pump Dimensions GF Flange Power Flange Ix115V 1x208-230V | 3x200-240V | 3x440-480V

Model in HP A B C Model Flange HP in Material # Material # Material # | Material #
0026e 2-Bolt 6 1/2 8 6 7/32 Magna3 32-60 F GF 15/26 1/8 6 1/2 08126822
0034e 2-Bolt 6 1f2 8 6 7/32 Magna3 32-120F GF 15/26 1/6 6 12 00833308
VR15 (L,M,H) | 4-Bolt 0.9 9 7/8 15 11 11f16 | Magna3 40-180F GF 15/26 or 40/43 3fa 8 1f2 98126810 08126838
VR20 (L,M,H) | 4-Bolt 1.1 11 15 11 11/16 | Magna3 50-150F | GF53 3/a 11 08126818 08126846
VR25 (LM, H) | 4-Bolt 21 13 3/8 16 1/8 12 1f2 TPE3 50-200 GF53 2 11 08819614 08819651
VR30 (L,M,H) | 4-Bolt 2.1 14 1/8 18 1/8 14 1f2 TPE3 80-180 GF 80 2 14 3/16 09384119 08819911
1915e 2-Bolt 21 10 7/16 15 9/16 12 11f16 | Magna3 40-180F | GF 15/26 or 4043 3/a 8 1f2 08126810 08126838

11




URELL

Building Partnerships that Work

, Magna3 and TPE3

28 35
26 . . o H
0026e High-Efficiency Circulator 003::;::2:;E[’ff:;:::zccl::’:lsator If H
u Constant Pressure Curyves EY 1 MAGNA3
b B 50
£ 2 @) v @B ] L
3 Orange LED Orange LED ] I I I A N
2 254 Head=26ft. 45
18 ]
16 Head=16ft. -2 0 ]
14 £ 1
E 35
12 I 1 allpressure 3
10 30 i
8 Head =8t 104 Head=13ft. ] Proportional 2
6 25 7 \
4 5 » ] loportional pressure 1
2 . \
0
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42 44 46 48 50 o 15
Flow e @GPV I M \
10 \\\
VR15 Performance Curves VR20 Performance Curves ] \\
132 nuwz(;ﬁnemm 400 530 189 uwi!‘?"‘;”'“ 568 Tt 5 m
L 183 183 4
— ]
RIS , 0 T e 10 15 20 30 40 50 60 70 80 100 150 200 300 400
. M o 2 4 6 8 1 12 14 16 18 20 2 2 2% 23 Q[USGPM] QUS GPM]
VR15M z VR20M T
£ gl € i
; : \ H
1 ' " TPE2 (D
uﬂ 35 70 108 14 o ( )
ovioe : 7 oo = - 80 — TPE3 (D)
50-240
VR25 Performance Curves VR30 Performance Curves —-\
E— Pp— 40-200 T::___-
oo i w0 e ar b 130 L 0 — mz?ﬁ“‘h-\__“ he
-]
s25] VRISH aca]— VR30H 15 ‘-\“\ h\\\\\\‘—\_-
50 4D-180 P SO 120 \ 55—;;\\ B5-200[ ™,
I e .- ™~ “ﬁ \"\.
i i 2 ¥ \
‘ “ ™~ N \\ > \
40-150)
. _'_'—‘—-—-—._._____\ -‘h'"“-...__\

BOH1S] a-180
100-150 100-180
[,

3

;

H

g

5

/ ;

]
B

rd

40-120 B-120
L/SEC_ 3 2 3 4 5 7 30 .‘\"'-
—T

-Max

"
/
.

25

B 4020
Ccpas A i 20 N

/
/
e

/|

HEAD IN FEET
0 8
ool
-l -l
N Wi
0 o
y
7
y
(e o
=
¢/
&
J )

8%
e

//
_ d_,./
T
—.____,.-"'"
e —

!
1 NG 100-40
10 } P
M 20 30 40 50 &0 80 100 50 200 300 400
UD n 40 (] L] 100 120 D [US GPM]
FLOW IN GALLONS PER MINUTE

12



The Grundfos MAGMNAI model D circulator pumps are designed for

circulating liguids in systems with variable flow requirements where

you want to optimize the setting of the pump duty point, thus
reducing energy costs The pump features AUTOADAPT which

automatically adjusts the pump to system demands for lowest

energy consumption

Lifecycle Savings - Reduces Energy Consumption by up to 85%

Easy Installation - Pump "Right Sizes” for Most Applications

Maintenance Free - Reliable for Decade

The Grundfos TPE3 joins the Grundfos commercial products line as
not only the smartest in-line pump, but also one of the easiest to use.
The TPES offers increased flow and pressure, as well as breakthrough
efficiency, in a plug-and-pump design. With features that simplify
installation, commissioning, operation and maintenance, the TPE3 is
| alogical choice for almost any commercial heating and cooling application.

URELL

Building Partnerships that Work

Grundfos Crossover Voltage Options

Taco 1600 Series Grundfos
Cast Iron Stainless Steel
Impeller
Diamete | Flange | Motor Flange to Motor | Flange to
r Size Power | Pump Dimensions | Flange Magna3 GF Flange Power Flange 1x115V 1x208-230V 1x115V 1x208-230V

Model in in HP A | B C Model Flange HP in Material # | Material # | Material # | Material #

Standard Models
1600 4.5 1 1/2 1/ | 3 16 10 1/4 | Magna332-120F | GF15/26 1/6 6 1/2 99833304 993833308
1610 4.75 1 1/2 1/3 | 3 16 10 1/4 | Magna340-80F | GF15/260rd40/43| 1/3 8 1/2 98126800 | 98126828 | 098126802 | 98126830
1612 5. 75 1 1/2 1/2 | 3 1/8 |18 1/2 |13 1/2 | Mapna340-120F | GF15/260r40/43| 1/2 8 1/2 98126804 | 98126832 | 98126806 | 98126834
1614 6.35 1 1/2 3/a [ 3 1/8 |19 13 1/2 | Magna340-180F | GF15/260r40/43| 3/4 8 1/2 98126808 | 08126836 | 098126810 | 98126838
1616 7.1 2 1 3 19 14 12 Magnal 50-180 F GF 53 1 11 00833480 00833483 00833481 00833485
1630 4.9 2 1/2 3 1/2 18 13 1/2 Magna3 50-80 F GF 53 1/3 9 1/2 08126812 08126840 08126814 08126842
1632 5.65 2 3/a | 3 1/2 |18 1/2 |13 1/2 | Magna350-150F | GF53 3/4 11 08126816 | 68126844 | 98126818 | 08126846
1634 6.15 2 1 3 1/2 19 13 1/2 Magna3 65-150 F GF 65 11/2 13 7/16 Q8126852 08126854
1636 6.4 2 11/2|35/8 |21 16 1/2 | Magna365-150F | GF65 11/2 13 7/16 98126852 98126854
1638 6.9 2 2 3 5/8 23 16 12 Magna3 65-150 F GF 65 11/2 13 7/16 Q8126852 08126854

Custom Models
1611 4 1 1/2 1/4 3 16 10 1/4 Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1/2 Q8126800 Q8126828 98126802 08126830
1611 4.25 1 1/2 1/3 | 3 16 10 1/4 | Magna340-80F | GF15/260r40/43| 1/3 8 1/2 | 08126800 | 98126828 | 98126802 | 98126830
1611 4.5 1 1f2 1/3 3 16 10 1/4 Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1/2 Q8126800 08126828 98126802 08126830
1611 4.75 1 1/2 1/2 | 3 17 10 1/4 | Magna340-80F | GF15/260rd40/43| 1/3 8 12 98126800 | 98126828 | 98126802 | 98126830
1615 4.7 1 1/2 1/3 3 1/8 18 12 1/2 Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1/2 Q8126800 08126828 98126802 08126830
1615 5.3 1 1/2 1/2 | 3 1/8 |18 1/2 |13 1/2 | Magna3 40-120F | GF15/260r40f43| 1/2 8 12 98126804 | 98126832 | 98126806 | 98126834
1615 L 1 1/2 3/4 3 1/8 19 12 12 Magna3 40-120 F GF 15/26 or 40/43 1/2 8 1/2 08126804 08126832 Q8126806 08126834
1615 6.35 1 1/2 1 3 1/8 |19 1/2 |13 1/2 | Magna340-180F | GF15/260r40f43| 3/4 8 1/2 98126808 | 08126836 | 098126810 | 98126838
1619 6.2 2 3fa | 3 18 1/2 |14 1/2 | Mapna3 65-150F | GF65 11/2 13 7/16 98126852 98126854
1635 4.1 2 1/2 3 1/2 18 13 1/2 Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1/2 Q8126800 08126828 Q8126802 08126830
1635 4.9 2 3/4 | 3 1/2 [18 1/2 [13 1/2 | Magna350-80F | GF53 1/3 9 12 98126812 | 98126840 | 98126814 | 98126842
1635 5.65 2 1 3 1/2 19 13 1/2 Magna3 50-150 F GF 53 3/4 11 Q8126816 68126844 08126818 081268416
1635 6.15 2 11/2 |3 1/2 [ 13 1/2 | Magna365-150F | GF65 11/2 13 7/16 98126852 98126854

Cast lron

Custom Models TPE2 Model 1x115V 1208-230V | Ix200-240V | Ix440-480V
1619 b.6 2 1 3 19 14 1/2 TPE3 40-200 GF 40/43 1 1f2 8 1/2 Q8819503 08819540
1619 7.1 2 11/2]3 21 14 1/2 TPE3 40-200 GF 40/43 1 1/2 8 1/2 08819503 98819540
1641 5.0 2 1 1/2 | 3 5/8 21 16 12 TPE3 80-180 GF 80 3 14 316 99836281 08819751
1641 6.4 2 2 3 5/8 23 16 12 TPE3 80-180 GF 80 3 14 3/16 00836281 Q8819751
1641 6.9 2 2 3 5/8 24 16 1/2 TPE2 80-180 GF 80 3 14 3/16 09836281 08819751

13



TACO 1600 Series Grundfos Offering
Building Partnerships that Work
Taco 1600 Series Grundfos
CAPACITY IN LITERS/SEC [::'t]
1 2 5 4 5 B 78 910 12 60 MAGNA3
80
70
B0
B ——————
1618 - 14
h_
- 40 12
] TSRO [ [
1634
z % = m s 3
g 1612 h\\ \ B £
: ?
20— 1610 \ N, \ 6 g
1632
SN E N
{600 1630 \ \ 4
» | \
i 20 30 a0 B0 60 TOBO9OOO 160 200
FLOW M CALLONS PER MIMUTE
1780 RPM
OUICK SELECTION CURVE
STOCK UMIT 10 15 20 30 40 50 60 70 80 100 150 200 300 400
Q[US GPM]
CAPACITY IN LITERS/SEC H
[m
80 1 2 .!-[ 4 & B 78 910 12 TPEE (D:]
a0
&0 R X —ﬂh"“h-
A, N @ — A
50 -
1619 \ 14 - - E‘“m,__si.:h Rt _‘E;E?}.\H
i =~ - 1641 \ 1 E . “‘\T“___‘ :?\::._\\\\ lx\
0 T 05T FTET ™ ¥ a1 mm
Z 3D \ q 3 E“““‘x L_"“ux‘-ﬂ"‘x"\\ \ \ﬁ\
9 1615 8 Z a0 - B N L\\R“m& 3, X
) 20 \ : g & ——Hs_____\__‘_h"'ﬂ-q :\‘_h%\\ o <] 1.'l."-.
\} 1635 \1‘ !’{ 5 . - ~ ™ E\\\\ ™~ \\ AN \ \‘.
4 A SN NINIARR
o | \Q‘”“x \\ \ \ \\ l\ /J
10 0 30 40 50 B0 708090 100 50 200 300 iz {_-J\‘-\
FLOW IN %ﬁHE‘F:EH MINUTE it \\'!'““ B \\ \H \ /v
QUICK SELECTION CURVE 20 0 40 51 B0 1) 100 s 2 ﬂéﬂius GPI':IF[I
CUSTOM LIMIT

14




, r

The Grundfos MAGMNAS model D circulator pumps are designed for

circulating liguids in systems with variable flow requirements where

you want to optimize the setting of the pump duty point, thus

reducing energy costs. The pump features AUTOADAPT which
automatically adjusts the pump to system demands for lowest
energy consumption

Lifecycle Savings - Reduces Energy Consumption by up to 85%

Easy Installation - Pump "Right Sizes" for Most Applications

Maintenance Free - Reliable for Decade

The Grundfos TPE3J joins the Grundfos commercial products line as
not only the smartest in-line pump, but also one of the easiest to use.

e The TPE3 offers increased flow and pressure, as well as breakthrough
' | I ' . efficiency, in a plug-and-pump design. With features that simplify
J L | installation, commissioning, operation and maintenance, the TPE3 is
2 A l sl | alogical choice for almost any commercial heating and cooling application.
1 1= =:, L] 'l
Taco 1900 Series Grundfos Grundfos Crossover Voltage Options
Cast Iron Stainless Steel
Motor | Flange | Motor Flange to Motor | Flange to
Speed Size Power | Pump Dimensions | Flange Magna3 GF Flange Power Flange 115V | Ix208-230V |  Ix115V | 1x208-230V
Model RPM in HP A | B C Model Flange HP in Material # | Material # | Material # | Material #
Standard Models, 1760 Motor Speed
1911 1760 1 1/2 1 3 15 10 1/a Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1/2 981263800 08126828 08126802 08126830
1015 1760 11/2 |1 1/2 |3 1/8 |16 1/2 |13 1/2 | Magna340-180F | GF 15/26 or 40/43 3fa 8 1/2 08126808 | 08126836 | 08126810 | 98126838
1919 1760 2 2 3 17 3/4 |14 1f2 See TPE3 Below
1935 1760 2 1 1/2 |3 12 19 15 3/a Magna3 65-150 F GF 65 11/2 13 7/16 08126852 08126854
1941 1760 2 3 3 5/8 24 16 1/2 See TPE3 Below
Cast Iron
Standard Models, 3500 Motor Speed 1x115V 1x208-230V | 3x200-240V | 3x440-480V
1911 3500 1 1/2 5 3 16 1/2 |10 1/a CRE-DP 32-1 5 12 5/8 09449300 91150385
1915 3500 1 1/2 |7 12| 3 1/8 17 13 1/2 CRE-DP 32-2-1 7 1/2 12 5/8 00449302 01150387
1935 3500 2 7 1/2 | 3 1/2 17 13 1/2 CRE-DP 45-1 10 143/8 91150392
Cast Iron
Standard Models TPE3 Model Ix115V 1x208-230V | 3x200-240V | Ix440-480V
1919 1760 2 2 3 17 3/4 |14 1/2 TPE3 40-200 GF 40/43 1 12 8 1/2 98819503 08819540
1041 1760 | 2 3 [35/8 [24 16 _1/2 TPE3 50-240 GF 53 3 11 98819631

15




TACO 1600 Series

547

Grundfos Offering

URELL

Building Partnerships that Work

Taco 1900 Series

Grundfos

CAPACITY IN Ll'EHS,-"'SF_C
1 2 3 4 5 6 10 12 20
a0 | 24
70
60 T~ 18
1919 \
L 40 < 2y
0 [P 1941 =
- N 10 &
z 3D N g =
3 1915 8 =
I 7 2
20 ‘-""h\ 5 T
N / 1935 \ / 5
1911 \ “
10 A
10 20 30 40 50 60 70BOSO 100 150 200 300
FLOW IN GALLONS PER MINUTE
1900 QUICK SELECTION CURVE @ 1760RPM
CAPRCITT M LTERS/SEC
&5 s 1.8 15 i3 [ %) as 128 ] fa 2@ 353 EvE Y
00 al
1)
N | 1915 SN '
115
- "'\\ s
- SO W N
N (EXE = \ \
e \‘i 1935 \\
: — \\ I ;
E o .‘l"'h.."\\ -\ / 12
= \\ /b / :
m VV’/ '
R 20 5 4 52 160 ™) 0 250 N0 ]

FLOW 1IN GALLONS PER MINUTE
1900-0QUICK SELECTION CURVE @ 3500 RPMW

HOAD W WITTRS

MAGNA3

10 15 20 30 40 50 60 70 80 100 150 200 Q[a(;UGpM]MU
H
'“’ TPE2 (D)
. — TPE3 (D)
== | [~ N
. e H‘xstihh‘m“h%-u ﬁﬁ%x&
= iﬁ—“éz—a:\x\l\\:\ \1\:‘“
IS NSNS
=R O
N N SN e NN D N
NNAVNAN]
. \x \\ \ \\ \\\ \/v)
mE‘:‘ n 40 5 B0 I.!!:“ 1'3; 150 2 ann ann

QS GPM|

14




Standard B&G 60 Series to Grundfos Efficient Option

Industry Leading Technology
Integrated Speed Control and Self-Sizing Logic
Built-in motor protection and Start/Stop contact
High Efficiency ECM motor

v4 Sosannun
S

Whisper Quiet Operation

v/ SoaaNnnus

7
~

Additional Features:

URELL

Building Partnerships that Work

Lifecycle Savings - Reduces Energy Consumption by up to 85%

Easy Installation - Pump "Right Sizes" for Most Applications

Low Maintenance - Reliable for Decades of Efficient Operation

In-Stock Locally - Standard Shelf Product

Compact - Makes Replacement Easy with a Spool Piece

B&G 60 Series

Grundfos

Grundfos crossover voltage options

Cast Iron Stainless Steel
Impeller | Flange| Motor Pump Motor | Flange to
Diameter| Size | Power Dimensions MAGNA3 / TPE3 GF Flange Power Flange 1x115V 1x230V 1x115V 1x230V
Model [Size in in HP H E T Model Flange HP in Material # | Material # | Material # | Material #
601 1x5.25 4.375 1 1/4 19 7/8 10 11 Magna3 32-100 F GF 15/26 1/6 6 1/2 98126824 98126824 98126826 98126826
602 1x5.25 4.84 1 1/3 19 7/8 10 11 Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1/2 98126800 98126828 98126802 98126830
603 1x5.25 5.25 1 1/2 21 1/8 11 11 Magna3 40-120 F GF 15/26 or 40/43 1/2 8 1/2 98126804 98126832 98126806 98126834
604 1.25x5.25 | 4.38 1 1/4 1/4 19 7/8 10 11 Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1/2 98126800 98126828 98126802 98126830
605 1.25x5.25 | 4.84 1 1/4 1/3 19 7/8 10 11 Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1/2 98126800 98126828 98126802 98126830
606 1.25x5.25 [ 5.25 1 1/4 1/2 21 1/8 11 11 Magna3 40-120 F GF 15/26 or 40/43 1/2 8 1/2 98126804 98126832 98126806 98126834
607 1.5x5.25 3.75 1 1/2 1/4 20 3/16 | 10 11 1/2 Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1/2 98126800 98126828 98126802 98126830
607 1.5x5.25 4.38 1 1/2 1/3 20 7/16 | 10 11 1/2 Magna3 50-80 F GF 53 1/3 9 1/2 98126812 98126840 98126814 98126842
608 1.5x5.25 4.94 1 1/2 1/2 20 7/16 | 11 11 1/2 Magna3 50-80 F GF 53 1/3 9 1/2 98126812 98126840 98126814 08126842
609 1.5x5.25 5.25 1 1/2 3/4 20 7/16 | 11 11 1/2 Magna3 50-150 F GF 53 3/4 11 98126816 68126844 98126818 98126846
610 2x5.25 3.25 2 1/3 20 11/16 | 10 11 1/2 Magna3 50-80 F GF 53 1/3 9 1/2 98126812 98126840 98126814 98126842
610 2x5.25 412 2 1/2 2111/16 | 11 11 1/2 Magna3 50-150 F GF 53 3/4 11 98126816 68126844 98126818 98126846
611 2x5.25 475 2 3/4 2111/16 | 11 11 1/2 Magna3 50-150 F GF 53 3/4 1 98126816 68126844 98126818 98126846
612 2X5.25 5.25 2 1 23 5/8 11 11 1/2 Magna3 65-120 F GF 53 1 13 716 98124696 98126848 98124702 98126850
613 1.5X6.25 5.75 1 1/2 3/4 21 5/16 | 11 13 1/2 Magna3 50-150 F GF 53 3/4 11 08126816 68126844 98126818 08126846
614 1.5X6.25 6.25 1 1/2 1 21 5/16 | 11 13 1/2 Magna3 65-150 F GF 65 1 1/2 13 7/16 98126852 08126854
615 2X6.25 5.62 2 1/2or3/4| 21 7/16 | 11 13 1/2 Magna3 50-150 F GF 53 3/4 11 98126816 68126844 98126818 98126846
616 2X6.25 6.22 2 1 21 716 | 9 3/4 13 1/2 Magna3 65-120 F GF 53 1 13 7/16 98124696 98126848 98124702 98126850
617 1.5X7 6.5 1 1/2 1 1/2 21 5/8 10 3/4 13 1/2 Magna3 65-150 F GF 65 1 1/2 13 7/16 98126852 98126854
618 1.5X7 7 1 112 2 21 3/8 10 3/4 13 1/2 TPE3 50-180 F 125# ANSI 1 1/2 11 99224017 99224033
619 2X7 6.5 2 2 21 3/8 10 14 Magna3 65-150 F GF 65 1 1/2 13 7/16 98126816 68126844 98126818 98126846
620 2X7 7 2 3 22 1/4 11 3/8 14 TPE3 50-200 F 125# ANSI 2 11 99224020 99224035
621 1.5x6.25 4.88 1 1/2 1/2 21 5/16 | 11 13 1/2 Magna3 50-80 F GF 53 1/3 9 1/2 08126812 98126840 98126814 08126842
622 1.5X7 5.5 1 .1/2 3/4 23 5/8 11 13 1/2 Magna3 40-120 F GF 15/26 or 40/43 1/2 8 1/2 98126804 98126832 98126806 98126834
623 1.5X7 6 1 172 1 23 5/8 11 13 1/2 Magna3 40-180 F GF 15/26 or 40/43 3/4 8 1/2 98126808 98126836 98126810 98126838
624 2X7 5.69 2 1 23 7/8 9 3/4 14 Magna3 65-120 F GF 53 1 13 7/16 98124696 98126848 98124702 98126850
625 2X7 6.12 2 1 1/2 21 3/8 10 3/4 14 Magna3 65-150 F GF 65 1 1/2 13 7/16 98126816 68126844 98126818 98126846
626 3x5.25 3.25 3 1/3 20 7/16 | 10 12 Magna3 50-80 F GF 53 1/3 9 1/2 08126812 98126840 08126814 08126842
626 3x5.25 3.75 3 1/2 20 7/16 | 11 12 Magna3 50-150 F GF 53 3/4 11 98126816 68126844 98126818 98126846
626 3x5.25 4.375 3 3/4 20 7/16 | 11 12 Magna3 65-120 F GF 53 1 13 7116 98124696 98126848 98124702 98126850
627 3x5.25 475 3 1 23 3/8 11 12 Magna3 65-120 F GF 53 1 13 7/16 98124696 08126848 98124702 98126850
627 3x5.25 5.25 3 1 1/2 21 1/8 10 3/4 12 Magna3 65-120 F GF 53 1 13 7/16 98124696 98126848 98124702 98126850

15




B&G 60 Series Grundfos Offering U R E I I
Building Partnerships that Work
B&G 60 Series Grundfos
H
- " MAGNA3
60
40-180
50
50 — \ 65-150 \
50-150
40 ~ \
40-120 65-120 ™~ 100-120 \
u’_: 40 30 ~ \ \\ \\
o N~ \ 80-100
< 32-100 \
% - 20 \ N \ \
J \
< ) N e | N\ )
2 NEERND
= 5 15 3280 N ™
NN N \
L . N \ L\ \
) . \ VL
8 \ |\
0 20 40 80 100 120 140 160 180 200 220 6
CAPACITY, GPM 10 15 20 30 40 50 60 70 80 100 150 200 300 400
UsS GPM
60 H Qr 1
[ft]
50 % 40240 50-240 T P E 3
40-200 _\
60 GOO N
40 50 40-180 \ 50180 \ 65-180 ss—zoox
- —
2 e614 o= — >
w 40-150 50-150 8071‘(5);0450 8%‘(5?50
- \ \
-l 30 40-120 \ 50420& 65-120
5 a3 ~ e, AN
- -—~—\ 25
20 = 40-80 50-80 \ 6’80\\ \ \ \ \
e616 20
e610 \
10 e615 ﬁ"l']_ f N \
[ — 15 0-60
T T T NRUERY Y
e|621 0 - \
’ NN\ oY
0 20 40 80 100 120 140 160 180 200 220 10 | N
CAPACITY, GPM 20 30 40 50 60 80 100 150 200 SSO[US P ’\;ﬁ)o

16




Standard B&G PL Series to Grundfos Efficient Option

e ]
3" O - — | '..1 : R
=) AR

l..._l__l_

1 N
EQ 91%1(1 4

Industry Leading Technology
Maintenance Free Wet-Rotor Construction

Integrated Speed Control and Self-Sizing Logic
Built-in motor protection and Start/Stop contact

High Efficiency ECM motor
Whisper Quiet Operation

0
A
c
4
0
n
0
(]

P

Additional Features:

URELL

Building Partnerships that Work

Lifecycle Savings - Reduces Energy Consumption by up to 85%

Easy Installation - Pump "Right Sizes" for Most Applications

Maintenance Free - Reliable for Decades of Efficient Operation

In-Stock Locally - Standard Shelf Product

Compact - Makes Replacement Easy with a Spool Piece

Grundfos crossover voltage options

B&G PL Series Grundfos Cast Iron Stainless Steel
Flange Motor Pump Motor | Flange to
Size Power Dimensions MAGNA3 GF Flange Power Flange 1x115V 1x230V 1x115V 1x230V
Model in HP A B C Model Flange HP in Material # | Material # | Material # | Material #
PL-30 1 1/4 1/12 8 5/8 6 3/8 7 1/8 Magna3 32-60 F GF 15/26 1/8 6 1/2 98126820 | 98126820 | 98126822 | 98126822
PL-36 1 1/4 1/6 8 5/8 6 3/8 7 1/8 Magna3 32-100 F GF 15/26 1/6 6 1/2 98126824 | 98126824 | 98126826 | 98126826
PL-45 1 1/4 1/6 9 1/8 8 1/2 7 1/4 Magna3 32-100 F GF 15/26 1/6 6 1/2 98126824 | 98126824 | 98126826 | 98126826
PL-50 1 1/4 1/6 9 1/8 8 1/2 7 1/4 Magna3 32-100 F GF 15/26 1/6 6 1/2 98126824 | 98126824 | 98126826 | 98126826
PL-55 1 1/4 2/5 9 9/16 6 3/8 7 15/16 Magna3 40-120 F GF 15/26 or 40/43 1/2 8 1/2 98126804 | 98126832 | 98126806 | 98126834
PL-75 2 1/6 9 15/16 8 1/2 7 3/8 Magna3 40-80 F GF 15/26 or 40/43 1/3 8 1/2 98126800 | 98126828 | 98126802 | 98126830
PL-130/2 2 2/5 10 3/4 8 1/2 8 1/4 Magna3 50-80 F GF 53 1/2 9 1/2 98126812 | 98126840 | 98126814 | 98126842
PL-130/3 3 2/5 10 3/4 8 1/2 8 1/4 Magna3 50-80 F GF 53 1/2 9 1/2 98126812 | 98126840 | 98126814 | 98126842

17




B&G PL Series

Grundfos Offering

URELL

Building Partnerships that Work

B&G PL Series

60 7 80 20 100 110

—_—

70 80 90 100 110

Grundfos
y
pa MAGNA3
50
N N .
By =~ ~. \\

* \\

/

80-100

)a

ol e\

IR NN RN

. NERG: \

o NEEAVNA \

8 NENNEEVR \
Q[US GPM]

18




B&G NRF Series to Grundfos Efficient Option

SUCTION |

DISCHARGE

Industry Leading Technology
Maintenance Free Wet-Rotor Construction

Integrated Speed Control and Self-Sizing Logic

High Efficiency ECM motor
Whisper Quiet Operation

Additional Features:

URELL

Building Partnerships that Work

Lifecycle Savings - Reduces Energy Consumption by up to 85%

Easy Installation - Pump "Right Sizes" for Most Applications

Maintenance Free - Reliable for Decades of Efficient Operation

In-Stock Locally - Standard Shelf Product

Compact - Makes Replacement Easy with a Spool Piece

Grundfos crossover voltage options

B&G NRF Series Grundfos Cast Iron Stainless Steel
Flange | Motor Pump Motor | Flange to

Size Power Dimensions Alpha2 /| MAGNA3 GF Flange Power Flange 1x115V 1x230V 1x115V 1x230V
Model in HP A B C Model Flange HP in Material # | Material # | Material # | Material #
NRF-9F 2 bolt 1/40 6 3/8 6 3/16 5 1/8 Alpha2 15-55 F GF 15/26 1/16 6 1/2 99163903 99163937
NRF-22 2 bolt 1/35 6 3/8 6 3/16 5 1/8 Alpha2 15-55 F GF 15/26 1/16 6 1/2 99163903 99163937
NRF-25 2 bolt 1/40 6 3/8 6 3/16 5 1/8 Alpha2 15-55 F GF 15/26 1/16 6 1/2 99163903 99163937
NRF-33 2 bolt 1/40 6 3/8 5 9/16 4 7/8 Magna3 32-60 F GF 15/26 1/8 6 1/2 98126820 | 98126820 | 98126822 | 98126822
NRF-36 2 bolt 1/25 6 3/8 6 7/8 5 3/4 Magna3 32-100 F| GF 15/26 1/6 6 1/2 98126824 | 98126824 | 98126826 | 98126826
NRF-45 2 bolt 1/25 8 1/2 7 3/8 5 3/4 Magna3 32-100 F| GF 15/26 1/6 6 1/2 98126824 | 98126824 | 98126826 | 98126826

19




B&G NRF Series

Grundfos Offering

URELL

Building Partnerships that Work
e
B&G NRF Series Grundfos
Single Speed NRF Circulator [;']
(FT) Performance Curves 1 ALPHA2
35 I | i 2 N 60 Hz
O NRF-22 b
20 € NRF-33 —] 16
© NRF-9F/LW \
14
25 \
12 \\
10 ™
20 \
8 ™~
~
15 6
4 \\
10 \\\ ) \\
\\ N : I
5 — 0 6 10 12 14 16 18 20 22 24
\ \\ Q [US GPM]
o N N \\ H
0 5 10 15 20 25 30 35 40 as 50 (gpm) [ft] MAGNA3
40
Three-Speed NRF Circulator
(F1) Performance Curves T
* T 1 30 B
\ © NRF-25 Speed 3 \
20 N (3 NRF-36 Speed 3 —| 32100
\ © NRF-45 Speed 3
20 —
25 R\ \ \
\ 15 3260 Ny \
20 \ \ \
12
15 \
AN 10
10 \ = \ \
N NN 8
5 NERNN \ |\
N 5
. \ 10 15 20 30 40 50 60 70 80 100
0 5 10 15 20 25 30 35 a0 a5 50 (gpm) Q [US GPM]

20




B&G 3-Piece Pumps to Grundfos Efficient Option Industry Leading Technology
Maintenance Free Wet-Rotor Construction
Integrated Speed Control and Self-Sizing Logic

Built-in motor protection and Start/Stop contact

URELL

Building Partnerships that Work

SUCTION ™

High Efficiency ECM motor
Whisper Quiet Operation

Additional Features:

Lifecycle Savings - Reduces Energy Consumption by up to 85%

Easy Installation - Pump "Right Sizes" for Most Applications

Lo,
: : B
i | ‘ [ B 1 Maintenance Free - Reliable for Decades of Efficient Operation
D %
N ! L/_[ H;:D g In-Stock Locally - Standard Shelf Product
W Rl i Tz c i : .
E __Z. DISCHARGE —~ / ompact - Makes Replacement Easy with a Spool Piece
A
- Grundfos crossover voltage options
B&G 3-Piece Pumps Grundfos Cast Iron Stainless Steel
Flange Motor Pump Motor | Flange to

Size Power Dimensions MAGNA3 GF Flange Power Flange 1x115V 1x230V 1x115V 1x230V
Model in HP A B C Model Flange HP in Material # | Material # | Material # | Material #
100 1 1/4 1/12 14 7/8 6 3/8 12 3/4 Magna3 32-60 F GF 15/26 1/8 6 1/2 98126820 | 98126820 | 98126822 | 98126822
PR 1 1/4 1/6 15 1/4 8 1/2 12 3/4 Magna3 32-60 F GF 15/26 1/8 6 1/2 98126820 | 98126820 | 98126822 | 98126822
HV 1 1/4 1/6 15 3/8 8 1/2 13 Magna3 32-60 F GF 15/26 1/8 6 1/2 98126820 | 98126820 | 98126822 | 98126822
2 2 1/6 16 5/8 8 1/2 14 Magna3 40-80 GF 15/26 or 40/43 1/3 8 1/2 98126800 | 98126828 | 98126802 | 98126830
2.5 2 1/2 1/4 17 1/4 10 14 Magna3 50-80 F GF 53 1/3 9 1/2 98126812 | 98126840 | 98126814 | 98126842
LD3 3 1/4 17 1/4 10 14 Magna3 50-80 F GF 53 1/3 9 1/2 98126812 | 98126840 | 98126814 | 98126842
HD3 3 1/3 17 1/2 10 14 1/4 Magna3 50-80 F GF 53 1/3 9 1/2 98126812 | 98126840 | 98126814 | 98126842
PD-35 3 1/2 20 1/4 12 16 7/8 Magna3 50-80 F GF 53 1/3 9 1/2 98126812 | 98126840 | 98126814 | 98126842
PD-37 3 3/4 20 1/4 12 16 7/8 Magna3 50-150 F GF 53 3/4 11 98126816 | 68126844 | 98126818 | 98126846
PD-38 3 1 2211/16 | 14 1/2 18 15/16 | Magna3 65-120 F GF 53 1 13 7/16 | 98124696 | 98126848 | 98124702 | 98126850
PD-40 3 1 1/2 24 3/4 14 1/2 21 Magna3 65-120 F GF 53 1 13 7/16 | 98124696 | 98126848 | 98124702 | 98126850

21




B&G 3-Piece Series ‘ Grundfos Offering

URELL

Building Partnerships that Work

B&G 3-Piece Series Grundfos

H
s(087) TLl Ih ; i Lba ledl 11750[ : [ MAGNA3
s chart is based on 1
RPM, 60 cycle. For 25, 40,0r50 60
cycle motors, larger pumps will 1
30(9.14) be necessary. For pumps with 40-180
' — larger capacities contact your [ | 50
local B&G repr ive. - —‘---\ \ 65-150
50-150 \ \
40 T~ = -
_ B0 NN - - ——
- TN 40-120 65120 | 100120
g — .
=4
$ 200610 N, N 30 P \\ ~
H \ \
m ‘. ~ —PD40 SN \ 80-100
g —SERIES PR PD38— 32-100
Z 150457 ~ \ \ \
2 . hat-PD37 N
20
z N N —— 3
= SERIES HV* e \ 050 \ \
10(3.05) ] —hF PD3S \ \ \ \ \
A N N =—HD3 *Performance characteristics 15 3260 N \
i are based on using 1-1/4" or \ \ \
5(1.52) \ N 1-1/2" flanges. When using 3/4" \ 5080 \
J 2%" == or 1" flanges performance wil
" SERIES 100" LD3 =% be slightly reduced 12
3 2" | \
1 i f 1 - \ \ \ \ \ \
) 1A Y N 1 1 I O 10
10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 \
(0.63) (1.26) (1.89) (2.52) (3.15) (3.79) (4.42) (5.05) (5.68) (6.31) (6.94) (7.57) (8.20) (8.83) (9.46) (10.09) (10.73)
DELIVERY IN GALLONS/MIN (LITERS/SEC) 8 \
6 \
10 15 20 30 40 50 60 70 80 100 150 200 300 400

Q[US GPM]

22




B&G Ecocirc XL Series to Grundfos Efficient Option

Industry Leading Technology
Integrated Speed Control and Self-Sizing Logic
Built-in motor protection and Start/Stop contact
High Efficiency ECM motor
Whisper Quiet Operation

¥4 Seaannus

soaannus

X

Additional Features:

URELL

Building Partnerships that Work

Lifecycle Savings - Reduces Energy Consumption by up to 85%

Easy Installation - Pump "Right Sizes" for Most Applications

Low Maintenance - Reliable for Decades of Efficient Operation

In-Stock Locally - Standard Shelf Product

Compact - Makes Replacement Easy with a Spool Piece

Grundfos crossover voltage options

B&G Ecocirc XL Series Grundfos SastTron Staloss Stes]
Flange | Motor Pump Motor | Flange to
Size Power Dimensions MAGNA3 / TPE3 GF Flange Power | Flange 1x115V | 1x230V | 3x460V | 1x115V | 1x230V | 3x460V

Model in HP A B C Model Flange HP in Material # | Material # | Material # | Material # | Material # | Material #
20-35 1 1/12 915/16 | 6 6/16 | 8 3/16 Magna3 32-60 F GF 15/26 1/8 61/2 98126820 | 98126820 98126822 | 98126822
36-45 1 1/6 915/16 | 6 6/16 | 8 3/16 Magna3 32-100 F GF 15/26 1/6 6 1/2 98126824 | 98126824 98126826 | 98126826
15-75 1 1/6 11 1/16| 8 8/16 | 8 6/16 Magna3 32-100 F GF 15/26 1/6 6 1/2 98126824 | 98126824 98126826 | 98126826
55-45 1 1/4 1/2 1114/16 | 6 6/16 | 10 3/16 ] Magna3 40-180 F GF 15/26 or 40/43 3/4 81/2 98126808 | 98126836 98126810 | 98126838
20-140 1 1/4 1/2 13 6/16 | 11 8/16 | 10 6/16 ] Magna3 50-150 F GF 53 3/4 11 98126816 | 68126844 98126818 | 98126846
65-130 1 1/4 1 14 13/16 | 11 8/16 | 11 13/16 | TPE3 40-180 F 125# ANSI 1 9 13/16 99223931 | 99223965 99223948 | 99223981
40-200 1 1/2 1 15 3/16 | 11 8/16 | 11 13/16 ] Magna3 65-120 F GF 53 1 13 7/16 | 98124696 | 98126848 98124702 | 98126850
70-145 1 1/2 2 14 13/16 | 11 8/16 | 11 13/16 | TPE3 40-180 F 125# ANSI 1 1/2 9 13/16 99223931 | 99223965 99223948 | 99223981
40-275 1 1/2 2 16 1/16 | 12 12 10/16 | TPE3 80-120 F 125# ANSI 1 12 14 3/16 99224180 | 99224186 99224181 | 99224187
65-130 1 1/2 1 14 15/16 | 11 8/16 | 11 14/16 ] TPE3 40-180 F 125# ANSI 1 172 9 13/16 99223931 | 99223965 99223948 | 99223981
40-200 2 1 15 4/16 | 11 8/16 | 11 14/16 ] Magna3 65-120 F GF 53 1 13 7/16 | 98124696 | 98126848 98124702 | 98126850
95-160 2 2 14 7/16 | 11 8/16 | 11 6/16 | TPE3 40-240 F 125# ANSI 2 913/16 99223937 | 99223970 99223954 | 99223986
27-320 2 2 15 4/16 | 14 3/16 | 11 13/16 | Magna3 100-120 F| GF 100 2 17 3/4 98126860 98126862
110-180 2 3 14 7/16 | 11 8/16 | 11 6/16 | TPE3 50-240 F 125# ANSI 3 1 99224046 99224065
45-375 1 1/2 3 16 2/16 | 14 3/16 | 1211/16 ] TPE3 80-150 F 125# ANSI 3 14 3/16 99224182 | 99224188 99224183 | 99224189

23




B&G Ecocirc XL Series Grundfos Offering U R E I I
Building Partnerships that Work
B&G Ecocirc XL Series Grundfos
110 H
rd MAGNA3
100 60
40-180
90 =0 \ 65-150 \
50-150 \
80 40 AN \_‘—"\
40-120 65120 T~ 100-120 \
70 30 ™~ N ™~
\ ~ \
60 - S \ 80-100
E \ N \ \
‘:’50 20 ™
— A \
40 \ \ 40-80 \ \ \
15 3280 W\ \ \ N
30 \ \ \ so.ao\ \
12 \
" AN \ \
10 X
1 EANEA \
0 8
0 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 \ \ \ \ \
Q(GPM) 6
10 15 20 30 40 50 60 70 80 100 150 200 300 400
Q [US GPM]
H
[ft]
g 40-240 50220 TP E3
40-200 _\
60 S~— N
50 40180 \ 50180 \ 65-180 sx
w0 ¥u S \
\\\\MO\W\ w 150 S?OLH:N
30 40-120 50-120 \ 65-120 \
™ o \\
25
40-80 50-80 \ Eﬁ \ \ \
) o\ SANERNY
' 1 VA SR VY
10 1}0040 \
0 25 50 75 100 125 150 175 200 225 250 275 300 325 350 20 20 0 50 60 50 100 150 200 300 400
Q(GPM) Q[US GPM|

24




Wilo Stratos to Grundfos Efficient Option

n

b,

D/blind plug

1 NPT %"
]

NPT 1"

1

I —
I

Industry Leading Technology

Maintenance Free Wet-Rotor Construction

Integrated Speed Control and Self-Sizing Logic
High Efficiency ECM motor
Whisper Quiet Operation

0
3
c
z
0
n
0
@
2

URELL

Building Partnerships that Work

Additional Features:

Lifecycle Savings - Reduces Energy Consumption by up to 85%

Easy Installation - Pump "Right Sizes" for Most Applications

Maintenance Free - Reliable for Decades of Efficient Operation

In-Stock Locally - Standard Shelf Product

Compact - Makes Replacement Easy with a Spool Piece

Grundfos crossover voltage options

Wilo Stratos Series Grundfos CastIron Stainless Steel
Flange Motor Pump Motor | Flange to
Size Power Dimensions Alpha2 /| MAGNA3 GF Flange Power Flange 1x115V 1x230V 1x115V 1x230V

Model in HP lo a ta a Model Flange HP in Material # | Material # | Material # | Material #
ECO 16 2 bolt 1/4 6 1/2 6 3/8 12 3/4 Alpha2 15-55 GF 15/26 1/16 6 1/2 99163903 99163937

1.25x3-20 2 1/6 6 1/2 8 7/8 7 3/16 Magna3 32-60 F GF 15/26 1/8 6 1/2 98126820 | 98126820 | 98126822 | 98126822
1.25x3-25 2 1/6 6 1/2 8 7/8 7 3/16 Magna3 32-100 F GF 15/26 1/3 6 1/2 98126824 | 98126824 | 98126826 | 98126826
1.25x3-30 2 1/4 8 1/2 9 15/16 8 1/16 Magna3 40-80 GF 15/26 or 40/43 1/3 8 1/2 98126800 | 98126828 | 98126802 | 98126830
1.25x3-35 2 1/4 8 1/2 97/8 7 15/16 Magna3 40-120 F GF 15/26 or 40/43 1/2 8 1/2 98126804 | 98126832 | 98126806 | 98126834
1.5x3-40 2 1/3 10 12 3/8 9 15/16 Magna3 40-120 F GF 15/26 or 40/43 1/2 8 1/2 98126804 | 98126832 | 98126806 | 98126834
2x3-35 2 1/2 11 13 10 1/16 | Magna3 50-150 F GF 53 3/4 11 98126816 | 68126844 | 98126818 | 98126846
3x3-30 2 3/4 14 16 1/4 12 13/16 | Magna3 65-120 F GF 53 1 13 7/16 | 98124696 | 98126848 | 98124702 | 98126850
3x3-40 3 1-3/4 14 16 1/2 12 15/16 | Magna3 100-120 F| GF 100 2 17 18/25 98126860 98126862

25




Wilo Stratos Series Grundfos Offering

URELL

Building Partnerships that Work

Wilo Stratos Series Grundfos
H
[f |
HIft] ) 0 ALPHA2
18 Wilo Stratos ECO ] 60 Hz
60 Hz - North America 18 \\
16 15 \\
14 ]
14 \\
12
10 12 \\
8 * N
8 S
6
4 %;\}\ 6
\\\ ’775- 4 \
2 - & ] ~
0 L 1 2 \\\
12 Q[usGPMm] |
] T T T r T T T r T T T
0 2 4 6 8 10 12 14 16 18 20 22 24
H Q[US GPM]
o MAGNA3
Hfft Wilo-Stratos ! . om0 [ | o
60 HZ — 65-150
T, 50-150 -\"‘\ \

40 NS - = \——--—-...
\:J% \ : 40-120 65-1-2-:\'\ 100-120
-, » 5 N \ \
- -7:;) i :\ \ 30 N
30 p== L) AN N AN N

3 ~
b % - 32-100 \ \
: T \ o N
20 A2 WNEs Ik 3 2T N \
B0 \

80-100

/

N
AN

6N Rl g AU FERNERNANN \
10 R\ L NIRRT \

Y — | |- NER AR N
% 40 80 120 160 200  Q/USgpm . \\ \\ \\ \\\ \\ \\

Q [US GPM]

26




	Cover
	TOC
	Taco 00
	Taco 00 Curves
	Taco 1600
	Taco 1600 Curves
	Taco 1400 & 2400
	Taco 1400-2400 Curves
	Taco 100
	Taco 100 Curves
	Taco 00e
	Taco 00e Curves
	Taco Veridian
	Taco VR Curves
	B&G 60
	B&G 60 Curves
	B&G PL
	B&G PL Curves
	B&G NRF
	B&G NRF Curves
	B&G 3-Piece
	B&G 3-Piece Curves
	B&G Ecocirc XL
	B&G XL Curves
	Wilo Stratos
	Wilo Stratos Curves



